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5,460,000

5,321,000

139,000

4,230,000

3,110,000

1,120,000
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6,480,000

5,321,000

1,159,000
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3,110,000
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14

123

580
450
6.0

0.3
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20

20

53,000
15,700
54,600
6,500
6,200

136,000

5
138,300

43




4
2 2%
9 3 2
5 3 6 8 2
J
1,090 1,390 0 2330 0 0 0 0
0 0 0 0f 1600 1060 1,060 1,060
0 0 0 0 0 50 70 100
1,090, 1390 0 2330 1600 1110/ 1,130 1,160
1140, 1390 0 2330 0 0 0 0
20 20 190 180 400 390 680 670
0 0 0 0 0 10 10 20
1160, 1410 190, 2510 400 400 690 690
70 20 190 180, 1,200 710 440 470
70 90 280 460 740/  1450| 1,890 2360
10
0 0 0 0 0 0 0
540 0 0 0 0 0 0
130 140 140 140 130 130 130
670 140 140 140 130 130 130
0 0 0 0 0 0 0
650 640 500 480 300 300 0
30 30 20 10 10 0 0
680 670 520 490 310 300 0
10 530 380 350 180 170 130
2350| 1,820 1440, 1,090 910 740 870
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